Math 152 - Fall 2012 - Quiz #10 Score: out of 10.

Name: y_
SOLVE ONE SIDE OF THE FOLLOWING:

Please indicate which side you do NOT want me to grade by putting an X through it,
otherwise I will grade the first side worked on:

| ' Show all work clearly and in order. Please box your answers. |

1. Using the formula, set up a table and find the first FOUR, nonzero terms of the Maclaurin series for
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2. Using the formula, set up a table and find the first TWO nonzero terms of the Taylor series about
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3. Find the radius and interval of convergence for the power series

s -9
Using He  Ruho Test fov Absolote CMW?Mce ’
Awn /_ﬁ'g_'_/ = /é _ : __(f;?.f:'. n /
el roe nH B .ff':,’ ney o (x79)"

(x-ﬂ) "
i | LAt 1
nveo [“lnt1) (x4Y

= twm Ix-4l »n
M0 Nt
= }X"?/ HAim n
N=eq N+ |

~ n_ (%)
/x q/ /v\e-::'o (n+1 )(;;\)

[x-al _twn 'V

-

—’/X q/(l-ro)
o = [x~-4) -
“lx-4]

So the power Swres  Grumes  whin (x4l <

ﬂzahs -l x-4< |
ﬂﬂ:{_ﬁz—lﬂ< x <1+ 9
<X L 10

e Pove  seres di\a.?;.s whun /x"‘l/‘ S/ -
Ju pows sercs mj comj( o\rd\'at wa  [x- ~-q] =

Test e &dFOvVl’}S 0‘-{ He mval S< x 10 °
g-a) . S O
i X=8  ply x7F wh F pour seces b get ;( %h
/—;};u an al-/tma'b»j Soes  So leds doy Af/tmm%j s Test:

&

n



Check (i) ‘}(Lse7ww< ?—,{"i X3 decrcaslgl :
embed 4 v @ St

3/__—————-—Me‘{hw('s ’ WA will X
vegrTi

Az £ = T ’;’fi[<o
For x7% - posiive

so Flx)is W(ﬂeﬂ\l'l] (sdeict 7)
Hwa/ | ?'éf 13 Gchtq_me \/




